
Math Numbers and Operations 5_2

Student Name:________________________________ Date:____________________

1. 

 1.12
+ 2.33

A. 4.20

B. 3.45

C. 4.45

  

2. 

 3.9
- 2.8

A. 1.2

B. 6.7

C. 1.1

3. 

0.25 + 0.51 = 

A. 7.60

B. 76.00

C. 0.76

4. 

 0.615
 0.115
+ 0.210

A. 1.000

B. 0.940

C. 0.930



5. 

1
2  + 3

5  =

A. 1
5  + 3

5

B. 1
2  + 1

2

C. 5
10  + 6

10

  

6. 

4
5  − 1

5  = 

A. 3
5

B. 5
5

C. 3
10

7. 

2 milks and 1 water cost about how
much?

A. $2.30

B. $2.15

C. $2.00

8. 

Jan has 6 cups of flour. 

She needs 3.5 cups more.

How many cups does she need in all?

A. 10

B. 9.5

C. 8.5



9. 

1
5  + 3

5  = 

A. 4
5

B. 4
10

C. 2
5

  

10. 

 1.6
- 0.8

A. 0.8

B. 0.6

C. 1.2

11. 

 +  = 

A. 9
8

B. 1 3
8

C. 2 1
8

12. 

Estimate:

13.6 − 1.9 = 

A. 12

B. 13

C. 10



13. 

 − 

3
4  − 4

6  = 

A. 1
12

B. 1
10

C. 1
2

  

14. 

1
3  + 1

2  =

A. 2
6  + 3

6

B. 1
6  + 2

6

C. 3
2  + 2

3

15. 

7.68 − 2.01 is about 

A. 7.00

B. 5.00

C. 6.00

16. 

4
9  + 5

9  = 

A. 0
9

B. 9
9

C. 10
9
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